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X —00 = g(x)—)O
x—o—wo = g(x)-0

h S

X — 0 = h(x)—-0 X >0 = fl(x)—>0
x—o—0w = /(x)-0 X—>—0 = fl(x)—>0
p.

X >0 = p(x)-0
XxX——ow = p(x)—>0
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X — 0 = fz(x)—>4 X — 0 = k(x)—ooo

X—>—ow = f2(x)—>4 x—o—w = k(x)>o©
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Karin bestimmt, wo es lang geht, denn & (x) bestimmt das
X —00 = f <x)—>oo

3 Globalverhalten von f5(x) .
X—>—w = f3(x)—>oo
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X — 0 = f(x)>ow
x—o—w = f(x)o—owo
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X —00 = h(x)>w©

f4(x)=x"

x—o—w = h(x)oow
=4x* 43— 2x+1

/5 ist eine ganzrationale Funktion.
x—0o = p(x)oo

X—>—0 = p(x)——)—oo

X —00 = k(x)>—o0
x—o—w = k(x)o—o
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